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5 8�=������ �79
�7�7� Q ∈ C[z]� K ?�7�� ��5
 >���?
� u �
=�7�9<:���� 5 �76�
��<
=7 �=�����7J ���97J�
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ρ −Hq��9�����
��� �� ����
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∂KC q � mC ��D7 =9� �7F�7J >���?
J α ∈ Hm
ρ (∂K) 
���<�� :=��
 >���?
J α1 ∈ M1

q C

α2 ∈ M2
q ���
C D7 �����9���B �75�9�= � ����L α = α1 + α2 + const�
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π(αC
n cosnϕj − αS

n sinnϕj) = μj
n, j = 1, 2,

��
���#��� 
�� ����
�� � ����������� M j
q , j = 1, 2( �������
 �

M1
q : αC

n cosnϕ1 − αS
n sinnϕ1 = 0,

M2
q : αC

n cosnϕ2 − αS
n sinnϕ2 = 0.

J���� ���	��� � �
�
�# Hm
ρ − Hq �
 ��	� ∂K # ����#8����( 8� α ∈ Hm

ρ (∂K)
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�*� �
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 # �# # ���� +#��,��( 
�� �
	�!
�� ����
��� 
��"�	0����� �������
 ( ��"�� ����
�� � ���
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S
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n sinnϕ1 = 0� �����

���
�� (α1,C
n , α1,S

n ) �����,�5 ����!� � � ����� �{
α1,C
n cosnϕ1 − α1,S

n sinnϕ1 = 0,

α1,C
n cosnϕ2 − α1,S

n sinnϕ2 = αC
n cosnϕ2 − αS

n sinnϕ2,

������

(α1,C
n , α1,S

n ) =

(
αC
n − αS

n tg nϕ2

1− tg nϕ2 ctg nϕ1
,
ctgnϕ1(α

C
n − αS

n tg nϕ2)

1− tgnϕ2 ctgnϕ1

)
.
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 �

(α2,C
n , α2,S

n ) =

(
αC
n − αC

n − αS
n tg nϕ2

1− tg nϕ2 ctg nϕ1
, αS

n − ctg nϕ1(α
C
n − αS

n tg nϕ2)

1− tg nϕ2 ctg nϕ1

)
=

=

(
tgnϕ2(−αC

n ctg nϕ1 + αS
n)

1− tg nϕ2 ctg nϕ1
,
−αC

n ctgnϕ1 + αS
n

1− tg nϕ2 ctg nϕ1

)
.
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q (

j = 1, 2(

α1 =

∞∑
n=1

(α1,C
n cosnτ + α1,S

n sinnτ) =

=

∞∑
n=1

(
αC
n − αS

n tgnϕ2

1− tgnϕ2 ctgnϕ1
cosnτ +

ctg nϕ1(α
C
n − αS

n tg nϕ2)

1− tg nϕ2 ctg nϕ1
sinnτ

)
,

α2 =

∞∑
n=1

(α2,C
n cosnτ + α2,S

n sinnτ) = $�&

=

∞∑
n=1

(
tgnϕ2(−αC

n ctgnϕ1 + αS
n)

1− tg nϕ2 ctg nϕ1
cosnτ +

−αC
n ctgnϕ1 + αS

n

1− tgnϕ2 ctgnϕ1
sinnτ

)
.
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���( ��� 
�� �*	
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�� ϕ0 = ϕ2 − ϕ1 ? ������ π����
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	��� ���	�@

�� ϕ0 ? �� �	����� ���	��

F,��� � ���+�,�0��� ���  ��!���
� αC
n cosnτ ( αS

n cosnτ ( αC
n sinnτ ( αS

n sinnτ #
���
�
� $�& +#��,�� α1 � α2∣∣∣∣ 1

1− tg nϕ2 ctg nϕ1

∣∣∣∣ = ∣∣∣∣ sinnϕ1 cosnϕ2

sinnϕ1 cosnϕ2 − sinnϕ2 cosnϕ1

∣∣∣∣ = ∣∣∣∣sinnϕ1 cosnϕ2

sinnϕ0

∣∣∣∣ �
� en|��ϕ1| · en|��ϕ2|

| sinnϕ0| =
en|��(ϕ1+ϕ2)|

| sinnϕ0| ;∣∣∣∣ tg nϕ2

1− tg nϕ2 ctg nϕ1

∣∣∣∣ = ∣∣∣∣ sinnϕ1 sinnϕ2

sinnϕ0

∣∣∣∣ � en|��(ϕ1+ϕ2)|

| sinnϕ0| ; $�M&∣∣∣∣ ctgnϕ1

1− tg nϕ2 ctg nϕ1

∣∣∣∣ = ∣∣∣∣cosnϕ1 cosnϕ2

sinnϕ0

∣∣∣∣ � en|��(ϕ1+ϕ2)|

| sinnϕ0| ;∣∣∣∣ ctgnϕ1 tg nϕ2

1− tg nϕ2 ctg nϕ1

∣∣∣∣ = ∣∣∣∣cosnϕ1 sinnϕ2

sinnϕ0

∣∣∣∣ � en|��(ϕ1+ϕ2)|

| sinnϕ0| .
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�# �	

���+�,�0���� E#�)0 # ���	
�� ρ = en(|��(ϕ1+ϕ2)|−|��(ϕ2−ϕ1)|)( �� # ρ = en|��(ϕ1+ϕ2)|

�	
 �������� ϕ0( ����	��� � ,�� # ���
��# CDϕ1 = CDϕ2�
�
	� �
 ��
��"����
 �
�� �����!���
�
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� � $.B/&� M���B μ+ 1 > 0� M��
��
��� =9� 6��9� ϕ0 ∈ R

∃ C0 > 0, ∀ n ∈ N, | sinnϕ0| > C0n
−μ $��&

�
��7��9��� ���
��7��


∃ C1 > 0, ∀ q

r
∈ Q,

∣∣∣∣ϕ0

π
− q

r

∣∣∣∣ > C1r
−μ−1.

<
������#��� ���������� $��&(  �!�
 ���"��� ��������( 8� ��� ������ # ϕ0 ���
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��� �,���#

|αj,C
n | � ρnμ(|αC

n |+ |αS
n |), |αj,S

n | � ρnμ(|αC
n |+ |αS

n |), j = 1, 2,


�
 � #�
�#�
��
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�
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∞ >

∞∑
n=1

(|αC
n |2 + |αS

n |2)ρ2n2m �
∞∑

n=1

|αj, C
n |2 + |αj,S

n |2
ρ2n2μ

· ρ2n2m =

=

∞∑
n=1

(|αj, C
n |2 + |αj, S

n |2)n2(m−μ).
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J αj , j = 1, 2C ��9�F��� ��7��7�� Hm−μ(∂K)�
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��# �� �	������� ϕ0 �
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m
ρ −Hm��	
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 ∂K�
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 Hm
ρ −Hq��	
�������� �������� ã1, ã2 ��
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>

α = w1 + w2( �� wi ∈ M i
q ⊂ Hq(∂K)( q � m( i = 1, 2� :���
���*�{

v1 = (u′
ν∗ + Δ

2 u
′
τ )|∂K = κ+ Δ

2 γ,

v2 = (u′
ν∗ − Δ

2 u
′
τ )|∂K = κ− Δ

2 γ,

���� 
0 � � ��� ��
� v1 � v2 +#��,�5 κ � γ{
κ = 1

2 (v1 + v2),

γ = 1
Δ
(v1 − v2).

$�A&

J���

α = κ− gγ =
1

2
(v1 + v2)− g

Δ
(v1 − v2) = (

1

2
− g

Δ
)v1 + (

1

2
+

g

Δ
)v2,

������

v1 =
w1

1
2 − g

Δ

=
2Δw1

Δ− 2g
, v2 =

w2
1
2 + g

Δ

=
2Δw2

Δ+ 2g
,
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κ � γ

κ = Δ ·
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w1

Δ− 2g
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w2

Δ+ 2g

)
∈ Hq(∂K); γ = 2
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w1

Δ− 2g
− w2

Δ+ 2g

)
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